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Run 5419 mpswise, accO: All

Enilries: 1347&4

— Mean: 64416 +/- 0.0179
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Run 5419, mpswise, acc0: Beam ON, Laser ON

: Entries: S4066

[ Mean: 14,2747 +- 00047

[ Sid Dev: 1.1018 +- 0.0034
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Run 5419 mpswise, BCM: All Run 5419 mpswise, BCM: Beam OFF
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Run 5419 mpswise, lasPow: All Run 5419 mpswise, lasPow: Beam OFF
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Run 5419 mpswise, bpmAx: All

Enilries: 1347&4

Mearn: -0.2558 < 00002
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Run 5419, mpswise, bpmAx: Beam ON, Laser ON
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Eniries: 19251

Meary: -0 4365 o/- DUDODE

Sid ey 01098 - 000086

Run 5419, mpswise, bpmAx: Beam ON, Laser OFF

Enilries: SI858

Mear: -0. 2268 «- (D000

Sid Dev: 00058 - 0.0000




Run 5419 mpswise, bpmAy: All Run 5419 mpswise, bpmAy: Beam OFF
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Run 5419 mpswise, bpmBx: All

— Enilries: 1347&4

Mean: 01617 «/- 0.0016

Sid Dev: 05908 - 0.00712
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Run 5419, mpswise, bpmBx: Beam ON, Laser ON
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Run 5419 mpswise, bpmBx: Beam OFF

— Enitries: 182581

Mean: 1 4858 +/- 00043
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Run 5419, mpswise, bpmBx: Beam ON, Laser OFF
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Run 5419 mpswise, bpmBy: All
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Run 5419, mpswise, bpmBy: Beam ON, Laser ON

2200
2000
1800
1600
1400
1200
1000
8OO
600
400
200

Enitries; 54066

Mean: 04368 +- 0.0001
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Run 5419 mpswise, bpmBy: Beam OFF
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Run 5419, mpswise, bpmBy: Beam ON, Laser OFF
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Run 5419 mpswise, beam ON, laser ON
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Run 5419 mpswise, beam ON, laser OFF
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Run 5419 mpswise, beam OFF, laser ON Run 5419 mpswise, beam OFF, laser OFF
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Run 5419 mpswise, beam ON, laser ON Run 5419 mpswise, beam ON, laser OFF
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Run 5419 mpswise, beam ON, laser ON
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Run 5419 mpswise, beam OFF, laser ON
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Run 5419 mpswise, beam ON, laser OFF
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Run 5419 mpswise, beam OFF, laser OFF
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BPM Ax

BPM Ax

Run 5419 mpswise, beam ON, laser ON Run 5419 mpswise, beam ON, laser OFF
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Run 5419 mpswise, beam OFF, laser ON Run 5419 mpswise, beam OFF, laser OFF
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Run 5419 mpswise, beam ON, laser ON Run 5419 mpswise, beam ON, laser OFF
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Run 5419 mpswise, beam OFF, laser ON Run 5419 mpswise, beam OFF, laser OFF
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Run 5419 mpswise, beam ON, laser ON
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Run 5419 mpswise, beam OFF, laser ON
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Run 5419 mpswise, beam ON, laser OFF
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Run 5419 mpswise, beam ON, laser ON
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Run 5419 mpswise, beam ON, laser OFF
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Run 5419 mpswise, beam OFF, laser ON Run 5419 mpswise, beam OFF, laser OFF
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